HIIESRE SRR (FR10))

ER244E10HA31 BB
HEAERE TEs—R

9. %ECME v 6. BEH A S84 4R 3R (hRBER)
T BEER H| H A x 7K A iy x
24 1114 5 1,318 125 182 166 178 142 169 152
23 1,108 0 1,312 11.2% | 16.3% | 14.9% | 15.9% | 12.7% | 15.1% | 13.6
p +6 +5 +6 i} N
2. BREEL A5 B il (op Egti fgg R e
fils ﬁ“‘m
24%E | 384 i 383 160 A
23 375 |0 | 376 D / N ®
_ 9 * 7 20 | & -
3. —HRHBEQHEEH (P LER) o
BEEN 80 |
24%F | 236 1 205 60 |
23 256 0 232 40 |—| == &
—20 +1 —27 20
0 1 L 1 1 L 1
4, BREOREH(PREA) ol
ﬁm A H A x xk P & 4
| 24% | 290 1 151 :
23 240 0 127 XEANTIEARBNREEL, ROVTKIEBEMNSLY,
+50 +1 +24
5. A RISE4EM; 7. BER A SR (PR X A)
_H%l_' [ EE [ aEER
1 104 0 117 00~02[02~04]04~06]06~08]08~10] 10~12
IES A +0 ~12 19 12 24 114 163 117
2 111 0 123 1.7% | _1.0% | 2.1% | 10.2% | 14.6% | 10.5%
+24 +0 | +29
3 111 1 130 12~14[14~16]16~18] 18~20] 20~22] 22~ 24
+8 +1 +13 103 | 149 161 128 | 85 39
4 87 i 94 9.2% | 13.3% | 14.4% | 11.4% | 7.6% | 3.5%
(HIsEE | —28 1 -37 B
5 117 i 139 = sl B i

FIEE| -8 | +1 | -6 1
68 | 103 0 119 {43& TR B
| HI[4E L +4 +0 . i 120 i
7H | 125 0 155 100
=0 +0 =7 80 / —
116 0 153 " L
+0 | _*0 | +17 © / o

8
|53
E2) 94 2 118 20 m.va‘
E%l:—w—»z—zz o
10 14€' O 170 00~02 02~04 04~06 06~08 0B~10 10~12 12~14 (4~16 16~18 18~20 20~22 22~24
(HIZELE | +28 +0 +30 -
11AH KIFMIRI Tk, FRISHEF~10RFA S (. RINCHFRAB~6BEN S LY,
ke |
T4 1 8. MBS ERR (P RRA)

1i14| 5 1318
i +6 | +5 +6 AXE

R SEAND |20 MR m
T 49 33 43

B AH AL
TREE] BT [BaL N AR Eofh| it
20 | 290 | 252 | 251 | 149 | 9




9. By Al 58 4 4R 3 ERA)
5 £ 153% W | aamnsn| —wnsu| srasu] Fosn|sesosn
J9E0R| 9 | 0 10 2 3 2 3 1
1L 36 0 40 12 6 6 4 9
Al | 20 0 23 6 5 5 3 4 =
Th 17 1 27 2 3 2 1 4 | 1FL2OBUE
| BF 8 0 8 4 0 3 0 3 WE 2EFHICSOVEUE
= FANT 29 0 37 1 6 8 2 8 7 3FWHICHLVEUE
L 34 0 42 14 4 4 4 12
| A 22 0 29 10 4 1 5 3
| [FERET ] 3 0 3 1 0 0 1 1
Wi 25 0 29 9 5 3 1 6
| FEAS ] 26 0 31 9 2 4 1 6
Vil 16 0 19 9 2 0 0 6
1 9 0 10 5 1 0 1 2
A it 6 0 6 ] 2 1 0 2
L | 124 1 143 49 33 9 17 24
7 0 8 4 2 0 0 3
PR EEANN 0 8 2 2 0 0 0
([ EME] 27 0 30 6 8 4 5 10
Wi 62 0 81 19 19 1 8 16
| 8 0 9 1 2 1 1 2
TF/HE]| 46 0 53 13 7 3 3 16
4 | 26 1 31 71 4 3 3 4
| fHHER | 64 0 80 21 10 12 3 16
xHE 3 | 0o 3 1 0 0 0 1
th 60 0 68 24 14 6 6 16
M4 111 1 129 39 30 g 16 32
gggg 15 0 16 5 2 1 3 3
i 40 0 52 16 4 2 1 10
BiEA | 30 0 40 8 6 2 3 6
kI 6 0 7 3 et 0 0 3
FE3NEY 0 33 17 5 0 2 8
MER T | 44 0 50 14 10 10 4 14
HIGDAR| 94 0 25 7 4 9 1 6
E TS 14 0 18 8 2 0 1 3
K32 10 0 10 3 4 3 0 3
=20 31 0 36 8 10 3 2 5
HES] 11 0 12 5 2 1 1 4
Ra | 45 0 53 9 10 8 6 16
A 9 1 9 3 2 0 0 2
=it 1 1114 5 1,318 | 384 236 125 112 290

O 10 A D3LHPFHIFEEHBIL 1464 (+28¢) T, ARMDFRERRELTIE
GEBRZTHAHILELIC, RTFRETEHYEL,

ORRECIIFEICAY, TindE (65 LDF) HEARY ST HPIMMELLS
WML TWETS,

OFBFR CIE, BROHEVFHEOREHMNIEATNET,
‘RIS R, FEACEEABORRELRERLELELS,




